char keyword[16],i=0;  //Declare the variables  8-loads*2-States=16 Keywords
void BTD() iv IVT_ADDR_USART__RXC ics ICS_AUTO  //UART Interrupt
{
[bookmark: _GoBack]    TCCR1B=0X00;
    keyword[i]=UDR;    //Storing data into the variable 'Keyword'
    i++;               //Incrementing array address pointer
    TCCR1B=0X0D;       //Start the Timer/Counter
}
void READ() iv IVT_ADDR_TIMER1_COMPA ics ICS_AUTO    //Compare match interrupt
{
    switch(keyword[0])           //Operate the respective relay
    {
        case 65:{
                    PORTC0_BIT=1;
                }break;
        case 66:{
                    PORTC1_BIT=1;
                }break;
        case 67:{
                    PORTC2_BIT=1;
                }break;
        case 68:{
                    PORTC3_BIT=1;
                }break;
        case 69:{
                    PORTC4_BIT=1;
                }break;
        case 70:{
                    PORTC5_BIT=1;
                }break;
        case 71:{
                    PORTC6_BIT=1;
                }break;
        case 72:{
                    PORTC7_BIT=1;
                }break;
        case 97:{
                    PORTC0_BIT=0;
                }break;
        case 98:{
                    PORTC1_BIT=0;
                }break;
        case 99:{
                    PORTC2_BIT=0;
                }break;
        case 100:{
                     PORTC3_BIT=0;
                 }break;
        case 101:{
                     PORTC4_BIT=0;
                 }break;
        case 102:{
                     PORTC5_BIT=0;
                 }break;
        case 103:{
                     PORTC6_BIT=0;
                 }break;
        case 104:{
                     PORTC7_BIT=0;
                 }break;
    }
    i=0;                //Reset the keyword array address pointer
}

void main()
{
    JTD_BIT=1;            //Disable JTAG Testing mode-Default for any program
    UBRRH=0X00;           //Setting UART BAUD rate to 38400
    UBRRL=0X19;
    UCSRB=0X18;           //UART Data frame registers
    UCSRC=0X86;

    OCIE1A_BIT=1;         //Enable Output compare match interrupt
    OCR1AH=0X0E;          //Set compare match registers to 3584
    OCR1AL=0X00;          //Value is obtained by trial and error
    SREG_I_BIT=1;         //Enable the interrupts globally
    RXCIE_BIT=1;          //UART byte received interrupt
    DDRC=0XFF;            //Define PORTC as output PORT
    PORTC=0X00;           //Issue zero to all the pins of PORTC initially

    while(1)
    {
         //Infinite Loop
    }
}
